
practise-learn standard form (12) timelypractice.com

1. (a) Work out the value of 930÷ (3.1× 104)

Give your answer in standard form.

(a) . . . . . . . . . . . . .

(b) Work out (1.6× 107)÷ (6.4× 104)

Give your answer in standard form.

(b) . . . . . . . . . . . . .

standard form (12) answers Q1: (a) 3× 10−2 (b) 2.5× 102 turn over for Q2

1. (a) Work out the value of 930÷ (3.1× 104)

Give your answer in standard form.

(a) . . . . . . . . . . . . .

(b) Work out (1.6× 107)÷ (6.4× 104)

Give your answer in standard form.

(b) . . . . . . . . . . . . .
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2. (a) Work out the value of 3.5× 107 ÷ (1.75× 103)

Give your answer in standard form.

(a) . . . . . . . . . . . . .

(b) Work out the value of (1.8× 105)÷ (3.6× 10−2)

Give your answer in standard form.

(b) . . . . . . . . . . . . .

standard form (12) answers Q2: (a) 2× 104 (b) 5× 106

2. (a) Work out the value of 3.5× 107 ÷ (1.75× 103)

Give your answer in standard form.

(a) . . . . . . . . . . . . .

(b) Work out the value of (1.8× 105)÷ (3.6× 10−2)

Give your answer in standard form.

(b) . . . . . . . . . . . . .
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